EARAROBREBRT —5 XN—ZXBISH—F 20226F487H () 1EEH2H

I C 2 94 SR B
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ A= A : -3-1- - IOEEER (2
sl s | FamoTyns— o6 | I 1.(3_4).9 3-3-1-2 [ 40.6 1 zzg)z nE= A
R:O—RFVIIL B:RLR—Va B IE—
= < 5 | RFRAAER 1:35.7 6-6-5-4 | 40.9| — 3 387 | BRHIES (S5H)
207|7|7FVY ) @ Gy | Trv
RiVEIWI+— B:eESRIFUVER o BE
— o4 | REBTE 1:36.1 5533 | 41.4| - | 4 | 40 |HOBES G
J0-5-U7 *50.0 o G | WOEeARs
RiITSRATVI— B:RARDNUT BRI ITIWN—RI—XT7—L
NPT BAMEE : -7-7- - BHEIES ()
9257 wolmeE g |
RiIN—EVYv— B:H—LT79—L =YY I7—1
ey S :36. -2-1- . - Pk — (%)
AWZRYFS A~ o4 | FE o7 S B et ol el <
RiNSPDI—LR B:ALRRYNAR ®E =A
» 5 | DOEEFUAE 1:37.0 4-4-4-5 |43 — 7 423 | BHIES (%4
s * 56.0 3/4) a | Sr=AbEYay
R:TSADVI— BN EYAH—I LIRS
'~ 4 4 | ALE— 1:39.2 1-1-6-7 |44.7 | - 5 541 | KEFEX (%)
U—~T 56.0 (544 @) | WS
R:drreryx B:ubhObDYIY Il KB
@ 1—F—&RIEL
13—7F+— 2,4,5,1,3,7,6
20—F+— 2,4,5,1,3,7,6
30—+— (4,5),3,1,7,2,6
Mal=5r= 4,5,3,7,1,6,2
o ILRE
BB 5 208 | [ 94K 5-7 210/ B & 5-7 500 3EE 3-5-7 590
B B 5 140M 3-5 230M =51 5-7 7009 3EH 5-7-3 2,250
7 240 3-7 310

ABIC OV TRUTEREERRODDZE. THRIIZEL.



